PAY LIMIT = 111"-6"

DS o ol o caq09n
5" (TYP)— — 191055 pra [ 19 — *-2" 21-83 ] <—§" 19 e e 19-1075 )
—5 ] e |
L~ 1 i 1 1T i 1T 1 11 10 1T 1T 1 1 1] 1 i I ~
N bl e L e bt ke ek, bl il b bl AL pon e bl JL0 e o
NORTH 37" EAST WALL FACING EAST 3‘-7"::| SOUTH
4 L aoon
ABBUTMENT 14 SPACES @ 6-7" = 02'-2 ABBUTMENT
PAY LIMIT = 111'-7%" ] 1
55 (TYP)~, . 19115 prana | b 19 %'_—__ 2183 T 19 e p— 19113 n
=] e |
L~ 1T i 11 11 11 11 1 11 11 1 i | 11 11 1 1T | ~
. 4L al e e Sl el bl bl ek ke il el bl N e AL | o
SOUTH 5715 WEST WALL FACING WEST 3'-71—57-:1 NORTH
16 - - 16
ABBUTMENT 14 SPACES @ 6'-7" = 92'-2 ABBUTMENT
BILL OF MATERIAL
ITEM #| QTY PART # DESCRIPTION ASTM DESIGNATION
1 34 [0033.90017 |TWO RAIL POST & BASEPLATE ASSEMBLY A572 Gr. 50
2 2 [0033.91070 [4” X 3" X 1/4° RAIL @ 19'-10 9/16" W/ END PLATES CEAST RAIL) |AS00 Gr. B
3 2 003391071 [4” X 3° X 1/4” RAIL @ 19'-11 1/2° W/ END PLATES (WEST RAIL) |AS00 Gr. B
$5/8* x 13 THREADED ROD, 4 4 [0033.91072 [4” X 3’ X 1/4" RAIL @ 19'—0’ AS00 Gr. B
W/ (2 HEAVY HEX NUTS, . g X 1/4" RAIL @ 21'-8 1/8° AS .
1> PLAIN HARDENED WASHER, S e 0033.91073 4’ X 3’ ’ 11_ 1/8 _ 00 Gr. B
> LOCK WASHER 6 2 |0033.91074 [2° X 2 X 1/8" RAIL @ 19'-10 9/16” W/ END PLATES (EAST RAIL) |AS00 Gr. B
7 2 1003391075 [2” X 2 X 1/8” RAIL @ 19'-11 1/2° W/ END PLATES (WEST RAIL) |AS00 Gr. B
8 4 ]0033.91076 |2 X 2° X 1/8° RAIL @ 19'-0" AS00 Gr. B
e TUk 9 2 003391077 [2” X 2* X 1/8" RAIL @ 21'-8 1/8* AS00 Gr. B
1 10 4 003390069 [1-1/2” X 1-1/2" FIX. SPL BAR @ 2’ 4’ AS572 Gr., 50
ANCHOR PLATES sibe TYP. 83" 11 4 [0033.90328 [1-1/2" X 1-1/2" EXP. SPL BAR @ 2’ 4° AS572 Gr. 50
Y [ 7 12 4 [0033.90071 [2-1/4" X 3-1/4 FIX. SPL. BAR @ 2’ 4* A572 Gr. 50
a H -$- é —61g" 13 4 [0033.90072 |2-1/4" X 3-1/4" EXP. SPL, BAR @ 2’ 47 A572 Gr. 50
10" § ! ' " ﬁ"_] 14 68  [0033.00295 [3/8” X 2 1/4" X 7 3/8" ANCHOR PLATES A36
g '”‘3' l_ J = " | 15 136 |0042.05813 [# 5/8" X 13 ANCHOR STUDS A449
a3 g }_é 16 272 008015901 [@ 5/8° HEAVY HEX NUTS A563
ANCHORAGE DETAIL rlg' & on N 17 136 |0080.15911 |? 5/8” FLAT WASHERS F436
RN
T g 15" (%) 18 136 [0080.15920 |? S5/8” LOCK WASHERS ASME D18.2
— '$ 4}— 2} 10" 19 34 [0080.05560 |@ 5/8° X 7 1/2° ROUND HEAD BOLT, NUT, F.W., & L.W. A325, AS63, F436, & ASME DI8.2
' : 20 34 |0080.05585 |# 3/4° X 8 1/2° ROUND HEAD BOLT, NUT, F.W., & L.W. A325, AS63, F436, & ASME DIg.2
ALTERNATE ANCHORAGE DETAIL SHOWN (THREADED ROD) PER | O
PREVIOUSLY APPROVED JOB [JAMAICA ER BRF 015-1 @3> '__I \ ) 21 32 0080,05275 (¢ 5/8° X 3* HEX BOLT, NUT, F.W,, & L.W. A325, AS63, F436, & ASME Di8.2
1 3.
55' R7" Typ. 22 32 |0080.07330 |@ 7/8° X 5 1/2° HEX BOLT, NUT, F.W., & L.W. A325, AS63, F436, & ASME DI8.2
, 23 34 [0033.90068 [1/8” ELASTOMERIC PAD D2240
1 73 3" Fabreeka Pad
2| NOTES:
gL 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION S25.
16 8%’ ] 2. PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16°
- C— 7 T 3. ALL POSTS SHALL BE SET NORMAL TO GRADE.
2 N s 4, SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWD BRIDGE POSTS AND PREFERABLY TO AT LEAST 4 POSTS.
—3 2 3;% WPS 3012 | S, HOLES IN RAILS FOR TUBE ATTACHMENT, MAY BE FIELD-DRILLED, HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH
16T 1 _[ o5 I8 PAINT PRIOR TO INSTALLATIDN,
. 13 [ 6. BOLTS SHALL BE TORQUED SNUG TIGHT ¢APPROXIMATELY 100 FT-LB).
| 13, 2" [ i L%" (4x) 17— 136'_”_ s | 7. RAIL TUBES SHALL BE ATTACHED USING 3/4“ FULL DIAMETER BODY ASTM A449 (TYPE I) ROUND HEAD BOLTS INSERTED
36 4 ' — THROUGH THE FACE OF THE TUBE.
e y Welded to 4°x3’ Tuke 8. SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR
10" | %16 1 g }{—H— THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
8" | 11 INSTALLED ON THE DRIVER’S LEFT. PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL TO OTHER ITEMS,
| A - 15 (2X) 1%.'_' % I%"”‘ 9, AESTHETIC TREATMENT TYPE SHALL BE APPLIED AS SPECIFIED IN THE CONTRACT PLANS. IF NONE IS SPECIFIED IT SHALL
© © T WPS 3012 NOT BE USED. AESTHETIC TREATMENT DETAILED ON THIS SHEET MAY ALSO BE APPLIED ON THE FASCIA SIDE OF THE RAIL,
- A3 O ﬂ e IF SPECIFIED IN THE CONTRACT PLANS.
HSS 4 xaraS/16 CeNTEREDS Ry" ) T 10. BRIDGE RAILING SHALL HAVE A RUBBED FINISH IN ACCORDANCE WITH SECTION 501
TN BASEPLATE %" = 1%, END OF RAIL DETAIL 11, THIS RAILING MEETS THE REQUIREMENTS FOR A& NCHRP REPORT 350 TL-4 SERVICE LEVEL,
/16'3-5/8"x3-5/8" CAP. 3, 11 Welded to 2x2* Tub 12, HOLES FOR MOUNTING DELINEATORS TOD BE FIELD DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT
ves ame \ 3, 4 |[ @' ERONT clded to exer Tuke PRIOR TO INSTALLATION.
[4 WALL ONLY 13. ALL STEEL COMPONENTS SHALL BE POWDER COATED BLACK AFTER GALVANIZING., COLOR SHALL CONFORM TO FEDERAL
! 1 LI STANDARD NO. 595, COLOR CHIP NO. 27038
N 1—@|
” v_/1
L W] |
s 4 sard! : Lo ITEM #: 900.640 FR Lafayette - MIDDLEBURY, (2014) SHEET 1 OF 2
i gr
T B L o APPROVED BY: BRIDGE RAIL DETAILS SHEET
1 '41_ i | 1-6 | | EM13-252, MIDDLEBURY RS 0174 (8)
i N 1 ¢§' ' /e L$.| TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
x >
| I stoT TRy || I R[NO. | DATE DESCRIPTION BY] R|NO.| DATE DESCRIPTION |BY]
WPS 3002 | l r [ | E E
5/16° | | | i v 7 A4
! | ul‘lh |h||| | i i NS G CERTIFIED DRAWN E.P. 37114
g,,_j 1 ] T 1 |_L|'|_I+I_L|'I_I+I_J ELDERLEE,[NC \ J9) CEABRICATOR CHECKED D.L. 3/10/14
4 3 LASTONERIC PAD OAKS CORNERS, NEW YORK 14578 APPROVED | . :
E-Mail: dlong@elderlee.com / epeck®@eclderlee.com SCALE | SCHEMATIC
Tel:315-789-6670 Faz:315-789-6615 PRAWING NO.FRL - MIDDLEBURY




®15/16” THRU TUBE & SPLICE BAR, | #15/16" THRU TUBE & #15/16” X 3" SLOT THRU SPLICE TOP RAIL EXPANSION

' ; BAR. ©7/8°X5 1/2” HEX BOLT & NUT, W/ <1> PLAIN
v/ QZ;8P|i<21l\}/gAR%EEE%D%A/TAS&HENRUTQ TOP RAIL FIXED SPLICE DETAIL HARDENED WASHER & (1) LOCK WASHER (4 PLACES) SPLICE DETAIL
(1> LOCK WASHER 4 PLACES) 1
—_— R —e== = e = = 1—"
_ Feoh -~ & g\ N e =Y ey M= W s I Iy
! e N B e ! I n §||_|
5u 41_96_"_] 3" HSS 4><3><1/4’—/ 1%!! 2 . 5 24 /_@15/1 6" X 3n SLOT (4X)
8 4 - - - -+
i _ ____—[__ ]—_—_[=_]—_-_—_— _—___l —=1_____[ =—]_._—-_— | [ ] - "
A 11 1 e 1 i 1. HSS 4x3x1/4 4" %
| ' | e 4" 34 / I 0m 0m N ama
B b Rt e R S R N ! T T F =T T AT 7 == = - | — 1 = l (TN
| ) i i NN B | 31"
| n__ | 43 3n_| n__| 174"x43° TYP. s e sd=lkde it =4 ) '
543 43" ——5"— i i i
11_2u 1|_2u | 5" | 42" 41" l 5!! I 1/4"%x43 TYP.
?11/16” THRU TUBE & SPLICE BAR, 1'-2" 1'-2"
@o5/8"X3" HEX BOLT & NUT, .
W/ (1) PLAIN HARDENED WASHER & BUTTUM RAIL FIXED SPLICE DETAIL SPLICEQ’gA/R{eQ,ST/HSR,,L)’(SIUSEEX&BSET“& Nﬁﬁw&(?)TPTLHAﬁH BOTTOM RAIL EXPANSION
(1> LOCK WASHER <4 PLACES) HARDENED WASHER & (1> LOCK WASHER (4 PLACES) SPLICE DETAIL

1!!
15 1 ~11/16" X 3" SLOT (4X)
= = - N ——r——=
| | | ‘ HSS 2x2x1/8" |—4"—| 1%" ’
! 3u 3u n 1/4"x45° TYP, ——=—=1r—= === 15"
S I Nl i e i S :
1' 2" 1' 2"
| 5u | 4_u 4_|| ! 5!! l 1/4"x43° TYP,.
4 4
1'_2" 1' 2"
ITEM #: 900.640 FR Lafayette - MIDDLEBURY, (2014) | SHEET 2 0F 2
APPROVED BY: BRIDGE RAIL DETAILS SHEET

EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

DATE DESCRIPTION .| DATE DESCRIPTION BY

Dl_DRAWN E.P. 31714

h ELDERLEE,INC. L1 CHECKED | DL 3/10/14
&Y 0AKS CORNERS, NEW YORK 14518 APPROVED | . ‘
E—-Mail: dlong@elderlee.com / epeek@clderlee.com SCALE SCHEMATIC

Tel:315-789-6670 Fax:315-789-6615 DRAWING NO.FRL - MIDDLEBURY




HSS 6"x6"x3/16" Kickback
@ 8'-10" w/End Cap

34" PAY LIMIT

Ll
% X I I X I 6 6 6 6 m&
I[
' POST 14 POST 13 POST 12 _|PUST 1 POST 10 POST 9 POST 8 POST 6 POST 5 POST 4 POST 2 "
8
HSS 6"x6"x3/16" Rall i oA
@ 17'11-1/2" L R
IIAII ——————p— e e ST T T T T T . 4
xf | L i [ kY |
i i =i - .

% ¢ R g 1 15§ 51 " Tl pswmeet "B

IIBII --——-—’-‘- --—————-——Eﬂ——--—--—" -t " l l l 2-10"
1 ] i T |
p—"""] - 14
e L1 4
| |
A
' M
r 4L rFa i ] o Jb 1t R RER . Ly r
:" .E J:j-i:'{- L‘ ‘E I'i', Ml }l—l |___i ‘ i E-'. '._: J'r' ':'L—I ’_—: '-: -y l j |_.4 . 8 !: 1
S3X5.7 POST @ 63" W/ SPADE [ a 4 SPACES @ 20" =
@ 3-0" SPACING = 150" d N B
W6x9 POST @ 7'- 0" W/ SPADE
‘ \ I S3x5.7 POST @ 7- 0" W/ SPADE——J @ 2-0" SPAGING (3X) = 6-0"
. I X I T I I X I & & & [:5 [ ——T

uAu_nAu $ ; '® '@ ® ©! ) |

&

WW1 & WW4

¥

GUARD RAIL TO BRIDGE RAIL TRANSITION

(18
N

I

SEE ADDITIONAL SHEETS FOR DETAILED VIEWS

llBll_llBll

Lon 2% e

—

ITEM #: 900.620

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

| SHEET 1 oF 8

APPROVED BY:

Galvanized 2-Rail Boz Beam Guardrail Approach Section

EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGENO : 13

DESCRIPTION

DESCRIPTION

BY]

3/20/14 |REVISED PER 3/18/14 MARK=UP |EP.

4/2/14 [REVISED PER 3/25/14 MARK=UP |EP.

ELDERLEE,INC. [0
OAKS CORNERS, NEW YORK 14518

E-Mail: dlong@elderiee.com / epeek@elderlee.com
Tel315-789-6670 Fax:315-783_66185

E.P. 3/7/14

D.L. 3/10/14

M.V.

SCHEMATIC

DRAWING NO.FR L - MIDDLEBURY 2014




BILL OF MATERIALS, WW 1 CTi—
TTEM #I GTY. |COMPONENT DESCRIPTION MATERIAL (ASTM) 23" CITEM # 7 —
T _| 3 [ 001357021 [ I-POST, PUNCH 8 W/SPD € 63 (G ASTH AS572 Gr. 50 2-0}" p———
2 | 3 | 001357025 [3* I-POST, PUNCH 8%, & 20° W/SPD & 63 LG ASTM A572 Gr. 50 vl ——t
3 | @ | 001357060 |3* T-END POST W/SPD € 39 LG ASTH 4572 Gr, 50 161 X B
T [ 4 WGX3 POST € 72 W/SPD & 5/6° HOLES @ VARIOUS ASTH AS72 Gr. 50 g ==
5 [+ 3 I-POST, PUNCH &° & VARIOUS’, W/GX32" SPADE 87 ASTH AS572 Gr, 50 23 -
7 | 1_[ 003300640 |ASS 5%5 TUBE SPLICE €27° LG W/ 174 SAIMS A500 Gr. B 7 AS72 Gr 50 ¥ ryp—|i— ; e iz 2
10| 19 | 0054.00050 [REG BB SHELF ANGLES € 4-1/2" ASTM A6 4 | ——hsmamsssns = Ay
2 |1 FSS SX5 DBL BEND TUBE SPL @ 27° LG & 42°ANGLE AS00 Gr. B /7 AS72 Gr 50 "o'“'o' ______ ____c,_- PLA e v
5 R TngAgS'ng?EklggAecé v/ AP ET AN A0 GBP'/BAse A ——— )X e===i | FIXED TUBE SPLICE ASSY. l ' ] g,'— '
® [ 1 GX6” BB @ 17-11 172", DRILL 3 CC, W/ 19-&" RADIUS AS00 Gr. B "5 X 516" @ 2 3" " Typ. ; " 3
7 [ 1 6X6” BB _TOP TRANS € 24’-9 3/4° LG W/EXP END, & 196" RAD. A500 Gr. B HS%;V:E’;Z;‘ 4119@ % Wes a000 PLAN \_01,, ‘ Qen-:-erllrgegm7/8f 3y I
® 1 6X6” BB BTM TRANS @ 25'-6 3/4° LG W/EXP END & 19-6° RAD. AS00 Gr. B T 8 In Top & Bottom o © Y
19| 16 008003355 [3/8" X 7 172" BOLT, NUT, & 2 FV A307, AS63, F436 P, Typ. , , , , HSS 6x6"x3/16" Tube (Typ.) ' | % 5/8” (2X)
20 | 19 | 0080.04100 [i/2” x 1-172" BOLT, NUT, & FW A307, AS63, F436 I 1 + ot i R A
2| 16 [ R0 [i/e % TI/2 BT NUT 2 PV & LW 307, A563, F436 4" x 1/4" x 26" Fill Plate b Y 11 ! :Igé' B1/2TX 5 X B/E" ANGLE
23 | 14 | 008006340 [3/4° X 7-172° BOLT, NOT, 2 FW A325, AS63, F436 (Front & Back) SPLICE TUBE - FIXED a4
24 | 6 | 008006370 [3/4° X & CARR BOLT, NUT, FV & (W A307, AS63, F436 = e FRONT VIEW PLAN VIEW
26 [ 1 [PARAPET WALL CONNECTIONS, LEFT-TRAILING [ A572 Gr. 50, AIS Gr. 60, A709 | FEsoeoseonbonsy - EE——
1 1 | l
T il T Bi (4) 3/4" Fully Threaded Bolts. 7 1/2" Long CITEM & 10
HARDWARE NOTES ! ! H ! (ASTM A325, TYPE 1) 2 Washers and a
ITEM # FUNCTION WPS 300 e B A e Heavy Hex Nut on each Bolt. Nut to be Finger
19 BOLT RAIL TO SHELF ANGLE CITEM #10) Typ, Tight and the First Thread below the nut to be
20 |BOLT SHELF ANGLE CITEM # 10> TO POST R . - damaged A.O.B.E.. 4 Bolts at Each Splice.
21 _|BOLT BLOCK-OUTS CITEM ¥ 13) 0 HEAVY POST CITEM ¥ 4 4" x 174" x 26" Fill Plate ELEVATION ELEVATION
23 |SPLICE TUBING CITEM #'S 7 & 12>, & (4) PER PARAPET WALL CONNECTION (ITEM # 26) Bottom) FIXED SPLICE TUBE ELEVATIDON
24 |BOLT RAIL KITEMS ¥'S 17, & 18 TO BLOCK-DUTS (ITEM # 13 FIXED TUBE SPLICE ASSY.
1°x7° HOR. SLOT
3/8°x47x9-1/2" TOP+BOTTOM
SHIM PLATES
WPS#3016 4-REQ. <w/SLOD ‘ BACK VIEW
Ty N 1°x7” HOR. SLOT
3/8° Ve - ] ] | ]
HOLE POSITION CHART T”P+BUTT””7 e L T T J
PLAN VIEW POST LENGTH ! 4 |"_"_'_'_'_'_""'——'—‘—'_'_’"_'_'_'"_'_'_'_'_'_'_'_"_'_""-
e 5 =11 578" ra T ===/ 1 = '!' ‘! ‘I| T
d I & 3 ro /e . _ L ANGLE “B’, PER DOUBLE BEND SPLICE 6 X 6 X 3/16” \A/ELDED'/
1/4" X 8" X 31 1/2" SPADE z T L B B (AS DETERMINED BY GROUND SLOPE DROP)
3 =9 716 e e e END CAP, W/CUT CORNERS
5 10 1'-8 374° e
5 —H—B" ) il 18"
8 _l 'z -I I— _[1%" ¢
| g—r 1-13/8"
8" " ! \013/16"HOLE TDP \/IEW
J_ | (FOR GALV)
g
VARIES, | |\05§é SSLES | —l_—————l—____j_ g
P 4) REQ'
TOBE FIELD DAILLED i i @ i HSS 3%5"X5/16°~ | | | 3
11 1 L I J ‘ 7" ‘
37 e
I | CITEM # 12) 3"
" ' 6" -] - — —— — — — — i — - — _____________________________________‘_____ -
1 __| *A* - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE ; \ / _/T- f
1 \ ACCORDINGLY(WW1-42°, WwW2-28°, WW3-25°, WW4-25°) 1 4
i || Nsos7 ‘B* - TURN DOWN ANGLE SET BY THE 9* MEASURMENT 7/8" 1/0" —
H [ AT THE END OF THE BOX BEAM.
If | P — (TOP & BOTTOM (TOP & BOTTOM)
—-——| |— - | WPS 3022
i i\ s || —+—\MITER @ 21° - WW 1 ® 5/8" HANGIN
2 , MITER @ 14° - WW 2
i WPs 3022 o HOLE FOR GALV
I N | MITER @ 12.5° - WW 3
ih ; . CITEM & 15 (TOP & BOTTOMD
) I 14210 | MITER @ 12.5° - WW 4
3td 1 '
! ! ! GENERAL NOTES:
! ! ! 1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF
| | | T)HE STANDARD SPECIFICATIONS. ITEM #:900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 2 OF 8
L| - i 2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). APPROVED BY: Galvanazed 2-Raal Box Beam Guardrail App?”O(lCh Section
i ! 3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE EM13-252, MIDDLEBURY RS 0174 (8)
| I | ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
16751 i . 4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL R[NO. [ DATE | DESCRIPTION BY[ R [NO.[ DATE | DESCRIPTION _]6Y
il TTEM # 59 | BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED. v 172"//": i;gggg e gggm S ees &
il J_ 5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER . e T N N
] 1 r Ve THAN 16’ TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE FLDERLEE.INC. R e o T
FRONT SIDE WPS 3022 CUT" AND WELDED. CURVED RAILING WILL HAVE AN 18" LENGTH ON EACH END Y/ 0AKS CORNERS, NEW 'YORK 14578 g”gﬁg‘go S"é':éMATIé
STRAIGHT TO ACCOMADATE SPLICES. E—M(;'-zglifuawl &@Zealadfrﬁlﬁezea.coEm“QieSpfglge_lggéee.com DRAWING NO.FR L - MIDDLEBURY 2014




PLAN VIEW

—i .

I :1/ "X 8" X 24" SPADE

CITEM # 1D

PLAN VIEW

e

I :1/4” X 8" X 24" SPADE

CITEM # 20

! gu . 5,
Su 1 5. 8 1
8 ‘|][ 13 1 8 13 1, 5.
_I |_ __E1§ _| —| I_ ._.E1§ - §'
[ = [ = ¥ T g
" " _E
e | | N\o 13/16° HOLE 8 l| | N\o 13/16° HOLE [
bl Pl FOR GALV)Y hy ' FOR GALVY ol '
T{#‘ 7 | - 2 1 [N\ 13 116" HoLE
N\ 5/8" HOLES g 16" | (FOR GALV)
[34) TYP 1 e 1 3|| o
1
l | I | I \ TN\ @ 558" sLoTs |
s ' 1l I \ (2x)
l | 35" | \53X5-7 I | 35" | $3x5.7 H | 14" |/ 2 318"
t ' = b’ T '__| I_ - | WPS 3022
| ' | —— TT\G 5/8" HOLES | th .
IN POST #11 . .
i ' arem za || YT i | | 441 |
[F 9] |
| l | | | I | | WPS 3022 |
(34 ] (p 4] ]
i | If | i |
w2 114" |/ 2 378" | | 1421 |
I ] o i ) o4 | \S3X5 7
l I | WPS 3022 | | I WPS 3022 i '
] -\ 63"£1/8" ' ' .\ 63"+1/8" i | I |
I | H | i |
I WPS 3022 | 1 WPS 3022 ! | I |
i | | I | | pu i
4':1/8" T [ 2sm
1 1/4" | 241 ] 111 1/4" | 2.1 ] J-“J- ‘J' 1/4 23/8
| | | | | | I WPS 3022
i i i i i i FRONT IDE
111 / | ' |/ |
|- | il |
4"£1/8" BN l 4"41/g" “J \ .
il | YT 12 [kl L N—pme
WPS 3022 WPS 3022
FRONT SIDE FRONT IDE
BILL OF MATERIALS BILL OF MATERIALS
ITEM #|arY DESCRIPTION ASTH 4 Tem ¢loTy DESCRIPTION ASTM #
1 BEL TUBE WALL PLATE -~ " X 12" X 25° ASTH AS72 Gr. 50 1 TBEL TUBE WALL PLATE — 1" X 12° % 25° ASTH A572 Gr. 50
RAW, 578" REBAR €@ 24" 613, Gr. 60 RAW, 8570° REDAR @ 24 ABTS, Gr. 60
5" X 5° X 5/16° TUBE W/ SLOTS € 1&° ASTH AS00 Gr, B 5" X 5° X 5/16° TUBE W/ SLUTS @ 15" ASTH AS00 Gr. B
4 SHIM PL 172" X 4" X 17° W/ SLOTS [ASTH A36CASTH A709 Gr. 363CVN] y SHIM PL 1/2” X & X 17° W7 SLOTS [ASTH A36(ASTM A709 Gr. SGICYN]
5 SHIM PL 172" X &° X 177 (W70 SLOTS ASTH AJ6(ASTM A709 Gr. 36CVN E SHIN PL /27 X 4" X 177 W70 SLOTS) [ASTH A36(ASTM A709 Gr. 36)CVN]
2 i YP. 2 | YP,
/® WPS 3016 WPS 3016
TYP) H P
wPs 3019/ S/167 1 1* x 4° SLOT, TOP WPS 3019 1+ x 4° SLOT, TOP
& BOTTOM | PROTRUSIONS CAUSED BY WELDING OR & BOTTOM | PROTRUSIONS CAUSED BY WELDING OR
WELD “R*— 7 GALVANIZING ARE NOT PERMITTED ON THE WELD ’R'—— GALVANIZING ARE NOT PERMITTED ON THE
Hl £ - SPLICE TUBES AND FILL PLATES __j. SPLICE TUBES AND FILL PLATES
3. 3.
\@) 1 2 2 Right Shown* \@) ol 27 Right Shown*
2 1, Wing Wall 1 = “Left’ 2 Wing Wall 1 = ‘Left’
1 S T AR
- . Ving Wall 3 = “Right’ . . n S Right
‘ RIGHT / APPROACH — 85" Wing Wall 4 = "Left* W/ ANGLE I RIGHT / APPRIACH ‘ Wing Wall 4 = “Left* W/ ANGLE
aln
I 1 _0z
3 — 9 — 1, \ —o— .
1 2'TYP, g i 2 1u FTYP. 7 2
/-us REBAR <1030 2 = 4 - I-a;;;gg,\ 3 L 4 '— T /ns REBAR €10%) 2 =k - I—E){<;g,\ = 4 |- T
I— T*P T 7%[ " — i 7z ‘ ITEM #: 900.620
1. Ao _=F : .
S 37"P-|_ 4 |_+ + — P 1, \_B'MQVPT 4 |"+ + — 1.01..
e E6 3 . o 05 STV eI\ |3 . 2 APPROVED BY:
3 3 . 3 3 o
st I T ) 108" | i I 2
15l : 154" :
2 e 2
16" (:) 1-6 @\
{;-EE-H ol T =il T o
T 1-105" | 1-105"
N & 2 | R —— ) 2
A —_ 1 |-
U i I
" #1* GALV. HOLE: " #1° GALV. HOLE:
"= 2X (REF> @ "= 2X (REF @
CITEM # 26) 1’ CITEM # 26) 1

PLAN VIEW

.

I : 1/4" X 8" X 24" SPADE

CITEM # 35

PLAN VIEW HOLE POSITION CHART
POST LENGTH
g
I_— :1—4" T 1-6 13716"
= 2 1-6 5/16°
1/4" X 8" X 24" SPADE 3 -5 13716"
L) TS 3/8°
el
% N 3, 2—
| |-4—"|' _| _E1"
. il | 43 - —
7| Y
T_L 4 I\D 13 6" HOLE
VARIES, (FOR GALY)
(PER CHART)

TO BE FIELD DRILLED

b —— -] L

]

\0 5/8"

(4 REQD)

ASTM A572 Gr. 50

| | /_1/772—
N
WPS 3022
> 14/ 2-10
1
LUt
16"
CITEM # 4
FRONT SIDE

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

/-WG X 91 BEAM

WPS 3022

1/4" 2

WPS 3022

| SHEET 3 oF 8

TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR

Galvanized 2-Rail Doz Beam Guardraal Approach Section

EM13-252, MIDDLEBURY RS 0174 (8)

COLLECTORY), BRIDGENO: 13

R[NO. | DATE| DESCRIPTION BY] R [NO.[ DATE | _DESCRIPTION _|BY
E[ 1 [ 3/20/14 [REVISED PER 3/18/14 MARK-UP |EP.| E
v[ 2 T4/2/W REVISED PER 3/25/14 WARK-UP EP v
CERT|F|ED DRAWN E.P. 3/7/14
ELDERLEE,INC. SFABRICATOR|| CHECKED | D.L. 3/1014
OAKS CORNERS, NEW YORK 14518 APPROVED | M.V.
SCALE__| SCHEWATIG

—-Man.l dlong@elderice.com / epeek@elderlee.com
Teli315-789-6670 Fou315-789-6615

DRAWING NO.FR L - MIDDLEBURY 2014




FACE OF RAIL TO HAVE

172" HOLES
— gl TOP+BOTTOM <TYP) ey HSS 16"
120 58 woles T0P VIEW 6 REQ'D 19°=6” CONVEX RADIUS OO\ pRILL @7/8” HOLE
' |_ (TOP & BOTTOM TOP+BOTTOM
R R % f + % % -
o5 T
3 -
ey ' FACEOFRAIL/
13-10"
15-10"
18-10"
21'-10"
2563" !
¢ 7/8" HOLES
. FRONT+BACK (TYP.)
;8 4 REQ'D
: |
6' I
—1‘-10"-—‘ " SIDE VIEW
3-10 CITEM # 1® -
5-10"
710"
$7/8* HOLE
0P VIEW 1/2* HOLES FACE 0OF RAIL TO HAVE T e
- & 778" HOLES NEE 2N A ik sy 19'-6” CONVEX RADIUS
2%.'_. !__ [ (TOP & BOTTOM V I_a-v
ot % ¥ : % : % ¥4
9-10" ! &=
11-10"
13-10"
15-10"
18-10" i
2493
£ A e
+BA :
4 REQD SIDE_VIEW WWi1 Tep— b
e \ i
; ]
& T N
' — 110" —
3-10" CITEM # 1D
5-10"
7'-10"
g qdn
oy 17-11§
14113
113
3 8-113
5'-111" 0%" _
2'-11 3/4"
_ TOP VIEW 1 o
T ..
43 r3" |
- = : ppd— ©
@1-1/8* HOLE / @1-1/8" HOLE /
\TDP+BDTTDM HSS 6x6x3/16 TOP+BOTTOM
2 REQ'D DRILL ®1/2* HOLES 2 REQ'D
TOP+BOTTOM W
. FACE OF RAIL TO HAVE 4 REQ'D W1
[3/16 19’-6" CONVEX RADIUS CITEM # 16)

= :
—

THIS LENGTH PAY ITEM 900.620

THIS LENGTH PAY ITEM 621.30

MITER CUT FOR
9'-0* KICKBACKS
e 2t°

ITEM #: 900.620

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

+

&

-4——4—1
ol |

Kl
[4)}
N
R
~
Pl
I
T

7 BACK VIEW oy
(POST SIDE)

— ]

i ! CITEM # 13)
| |
|
|

IN—g75

|"
L

FRONT VIEW
(RAIL SIDE>

| SHEET 4 0F 8

APPROVED BY:

Galvanized 2-Rail Boz Beam Guardrail Approach Section

EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION BY]

3/20/14 |REVISED PER 3/18/14 MARK-UP |EP.| E

4/2/14 [REVISED PER 3/25/14 MARK~UP |EP.| V
B SR DRAWN E.P. 3/7/14
g\%%ﬂé‘/ﬁ"f%% CHECKED | D.L 3/10/14

APPROVED | M.V.
SCALE SCHEMATIC

E‘Ma/cl dlong@elderlee com / epeek@clderiee.com

DRAWING NO.FR L - MIDDLEBURY 2014

Telk3158=-789-6870 Fax.315-789-6615




34' PAY LIMIT

HSS 6"x6"x3/16" Kickback
@ 8'-10" w/End Cap

I I

— fAAA . ... .

s —eg3—-

%

POST 1 POST 2 POST 3 POST 4 POST S POST 6 POST 7 POST 8 POST 9 POST 10 POST 11 POST 12 POST 13 POST 14

HSS 6"x6"x3/16" Rail

@ 20" SPACING (3X) = 60"

e e @ 17'11-1/2"
T T e — e e —— nAnN
N I
6% g5 513 e 5 : - \ %
1 I’ [° P s Iﬁh g ﬁ*‘-w@" 10} LR S —— .- R
g
= = o
1 ] v
N N B e S
M mM 1 oFn 4 kA g0 J'- “i E i
il Alh Ak At NN L RAR RN 1 b r rh i 1 sinlREln
F' ' L RN 3 b—l g | LiL RER RER Lilt LG
T (] I 4 T = (] T
2" 4 At _ . | 83X5 7 POST @ 63" W/ SPADE
‘ 4 SPACES @ 2'-0" =8 3 @ 3-0" SPACING = 150"

\ W6x9 POST @ 7'- 0" W/ SPADE

} I—————ssxs.7 POST @ 7*- 0" W/ SPADE \ { ‘

_ cB-€B3—- -ﬁ \

\
1/2'—!
(16
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS N

GUARD RAIL TO BRIDGE RAIL TRANSITION
WW2 & WW3

=P aoa N

CHD--CBDI—- -l|

" B‘l_ll Bll

ITEM #: 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 5 0F 8
approvenBy: | Galvanized 2-Rail Boz Beam Guardrail Approach Section

EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO ; 13
R[NO. | DATE | _DESCRIPTION BY[ R[NO.[ DATE | DESCRIPTION |BY]
E[ 1| 3/m/14 [REVISED PER 3/18/14 MARK=UP |EP.| E
v 4/2/14 [REVISED PER 3/25/14 MARK=UP |EP.| V

f DRAWN | EP. | 3714
@S@ﬁﬁcﬂ%’% CHECKED | DL | 3/0i4

FELDERLEE,INC.

APPROVED | M.v.

v
OAKS CORNERS, NEW YORK 145 78

E'-—Mm.l dlong@elde'rlee com / epeek@elderlee.com SCALE SCHEMAT'C
215_909_GR15 DRAWING NO,FR L - MIDDLEBURY 2014




FACE OF RAIL TO HAVE

.. ropaot i 83 Ay ,.
- & TOP_VIEW E e\ 130°=9”7 CONVEX RADIUS  wsseeeney o e vole 9/~0" KICKBACKS
1., _] 7/8" HOLES e 14°
¥l (TOP & BOTTOM) TOP+BOTTOM
L % Y + f % : S
Gl 9-10" - / 7
11-10" FACE OF RAIL
13-10"
15-10"
18-10"
210"
253" !
@ 7/8* HOLES
. FRONT+BACK (TYP.)
p 8 4 REQ'D
" [ 1
6| T—C 3
—1-10" —
- SIDE VIEW
3-10 CITEM # 18 -
5.10"
7-10"
$7/8° HOLE
I \/er HOLES FACE OF RAIL TO HAVE TP+BOTTON
TOP+BOTTOM (TYP.) y
- 8%" _— 6 REQ'D 130/_9/ CDN\/EX RADIUS
7/8° HOLES -
of | =/ TOP & BOTTOW . | [
R ; ¥ % % = % ¥
9-10" | &
110"
13410
15'10"
18-10" {
o0 BILL OF MATERIALS, WW 2
) ol TTEM # ATV | COMPLNENT DESCRIPTION MATERIAL <ASTM)
~4 1 3| 001357021 [3* 1-POST, PUNCH &' W/SPD @ 63" LG ASTM _AS72 Gr. 50
¢ 7/8* HOLES 2 | 3 [ 001357025 |3 I-POST, PUNCH 8", & 20° W/SPD @ 63 LG ASTM AS572 Gr. 50
FRONT+BACK (TYP) 3| @ |0013:57060 [3° I-END POST W/SPD @ 3-8’ LG ASTM AS572 Gr. 50
4 REQ'D SIDE VIEW WW2 HSS 6x6x3/16" 1ol 4 4 | 0013.09001 [W6X3 POST @ 7' W/SPD & 5/8° HOLES ASTM A572 Gr. 50
—_— _I 2 ; S | 4 | 001357010 [3' I-PUST, PUNCH &° & 20°, W/8X32’ SPADE &7 ASTM AS72 Gr. 50
re - =4 7 T | 0033.00640 [HSS SXS TUBE SPLICE €27° LG W/ 174’ SHIMS AS00 Gr. B / AS72 Gr 50
| 10_[ 19 | 0054,00050 [REG BB SHELF ANGLES € 4-1/2" ASTH A36
6" 1—‘[ T | 1 FASS SX5 DBL _BEND TUBE SPL @ 27° LG & 26°ANGLE ASG0 Gr. B 7 A572 Gr 50
| 13| 8 |0054.00566 [6X6" TRANS. TUBE B/0 @ 6° LG AS00 Gr. B
— 110" —] 15 | 1 EX6” BB @ 9-0° KICKBACK, W/ CAP & 14° ANGLE AS00 Gr. B 7 A36
510" CITEM & 17> 16 | 1 GX6’ BB € 17-11 172", DRILL 3 CC, W/ 130'-9° RADIUS AS00 Gr. B
- 17 [ 1 GXG" BB TOP TRANS @ 24-9 3/4° LG W/EXP END, & 130-9° RAD. AS00 Gr. B
5-10" 18 1 6X6” BB BTM TRANS @ 25-6 3/4° LG W/EXP END & 130'-9° RAD, AS00 Gr. B
710" 19 | 18 | 0080.03355 [3/8” X 7 1/2° BOLT, NUT, & 2 FW A307, AS63, F435
20 | 19 | 008004100 |1/2" x 1-1/2° BOLT, NUT, & FW A307, AS63, F430
21 | 16 | 0080.04120 [i/2° x 1-1/2’ BOLT, NUT, 2 FV & LW A307, AS63, F4306
A 23 | 14 | 0080,06340 [3/4° X 7-172° BOLT, NUT, 2 FW A3ES, AS63, F436
17113 24 | 8 | 0080.06370 [3/4° X 8’ CARR BOLT, NUT, FW & LW A307, AS63, F436
141_11%" 26 | 1 PARAPET WALL CONNECTIONS AS72 Gr. 50, AGIS Gr. 60, A709
- g-113" HARDWARE NOTES
5-11%" 10%" - ITEM # FUNCTION
— 211 3/4" ——— 19 |BOLT RAIL TO SHELF ANGLE CITEM #10)
- 10%-- TOP VIEW 45" 20 |BOLT SHELF ANGLE CITEM # 10> TO POST
4 - g0 21 |BOLT BLOCK-OUTS CITEM # 13) TO HEAVY POST CITEM # 4)
2 re |\ 23 [SPLICE TUBING (ITEM #'S 7 & 12), & (4> PER PARAPET WALL CONNECTION CITEM # 26)
F%% $ LN $ ¢ 7$—/¢—| r 6 24 |BOLT RAIL CITEMS #'S 17, & 18 TO BLOCK-OUTS CITEM # 13>
]
\wl—l/S' HOLE / #1-1/8° HOLE ﬂ ITEM #:900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 6 OF 8
HSS 6x6x3/16" - - ; y , :
TOP+BOTTON , TOP+BOTTOM APPROVED BY: Galvamized 2-Rail Box Beam Guardrail Approach Section
2 REG'D DRILL #1/2* HOLES 2 REQ'D 2
TOP+BOTTOM EM13-252, MIDDLEBURY RS 0174 (8)
" TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO ; 13
4 REQ'D FACE OF RAIL TD HAVE
316" CITEM # 16 1509 CONVEX. RADIUS R[NO. [ DATE| DESCRIPTION BY| R|NO.| DATE| DESCRIPTION _ |BY
E[ 1 | 3/20/14 [REVISED PER 3/18/14 MARK-UP |EP.| E
T+ = ‘ v 4/2/14 [REVISED PER 3/25/14 MARK-UP |EP.| V
6 o \ ] y: - Ao cERTiRED|_CRAWN E.P. 377114
,—| ELDERLEE,INC. quE[: <FABRICATOR|| CHECKED [ D.L. 3/10/14
| THIS LENGTH PAY ITEM 900.620 THIS LENGTH PAY ITEM 621.30 | OAKS CORNERS, NEW YORK 14578 ';PPROVED My. | .
E-Mail: dlong@elderiee.com / epeck@clderlee.com CALE SCHEMATIC
Tel:315-789-66870 Faz-315-789-8815 DRAWING NO.FR L - MiDDLEBURY 2014




1/2* HOLES
MITER CUT FOR
~ & TOP_VIEW TOP+BOTTOM (TYP. HSS 6x6x3/16" . 9'-0" KICKBACKS
1, 7/8* HOLES 6 REG'D DRILL ¢7/8” HOLE e 14°
27 [ yfaop & BoTToM TOP+BOTTOM
e t ¥ % + % % Y
6" g d 910" i / -
11-10" FACE OF RAIL
13-10"
15-10"
18-10"
21-10" 3
25'-63" |
® 7/8" HOLES
. FRONT+BACK (TYP.))
p e 4 REQ'D
) | H
6 —|- !
[—— 110" ——
. SIDE VIEW
3-10 CITEM # 19 —_—
510"
710"
$7/8 HOLE
TOP+BOTTOM
1/2° HOLES 2 REQ'D
— gl TOP VIEW  TOP+BOTTOM (TYP)
2 Pﬁ 7/6* HOLES 6 REQ D\ .
of | |- /<TOP & BOTTOM r
LZF = ¥ ; ] 7 ; e
9-10" ! ¢
110"
13-10"
15-10"
18.-10" {
ot BILL OF MATERIALS, WW 3
’ o3 TTEM &1 GTY. ] COMPLNENT DESCRIPTION MATERTAL (ASTM>
4 T_| 3 | 0013570281 |3 I-POST, PUNCH 8 W/SPD € 63° LG ASTM A572 Gr. 50
@ 7/8 HOLES 2 | 3 | 001357025 |3 I-POST, PUNCH B, & 20° W/SPD @ 63' LG ASTM_A572 Gr. 50
- FRONT+BACK (TYP.) 3 | @ | 001357060 |[3° I-END POST W/SPD @ 3-8’ LG ASTM_A572 Gr. 50
4 REQ'D SIDE VIEW WW3 HSS 6x6x3/16" 1ol — 7 | 4 | 0013.09001 |W6X9 POST @ 7 W/SPD & 5/6° AOLES ASTM AS72 Gr. 50
———— _I 2 4 S | 4 | 001357010 |3 I-POST, PUNCH & & 20°, W/8X32° SPALE 67’ ASTM A572 Gr. 50
re - =4 7 | 1 | 0033.00640 |ASS 5X5 TUBE SPLICE @€27° LG W/ 174’ SHIMS AS00 Gr. B / AS72 Gr 50
' r i 10_[ 19 | 0054.00050 [REG BB SHELF ANGLES @ 4-1/2" ASTM A36
& Tr 1 1 FSS SX5 DBL BEND TUBE SPL @ 27 LG & 25°ANGLE AS00 Gr. B 7 AS72 Gr 50
1 13| 8 | 0054.00566 |6X6’ TRANS. TUBE B/0 € &’ LG AS00 Gr. B
g — B [ 1 EX6" BB @ 9'-0’ KICKBACK, W/ CAP & 12 1/2° ANGLE AS00 Gr. B /7 A36
310" CITEM # 175 ® |1 EX6’ BB € 1711 1/2°, DRILL 3’ CC AS00 Gr. B
) 7 | 1 GX6' BB _TO0P TRANS @ 24~9 3/4° LG W/EXP END AS00 Gr. B
5-10 18 1 E6X&" BB BTM TRANS € 25-6 3/4° LG W/EXP END AS00 Gr. B
7-10" 15_| 19 | 008003355 |3/8° X 7 172° BOLT, NUT, & @ FW A307, AS63, F436
20 | 15 | 008004100 [I/2° x 1-1/2° BOLT, NUT, & FW A307, AS63, F436
21 | 16 | 008004120 |I/2° x i-1/2° BOLT, NUT, 2 FV & LW A307, AS63, F436
1 23 | 14 | 008006340 [3/4° X 7-172° BOLT, NUT, 2 FW A325, AS63, F4306
17-1135" 24 _| © |008006370 |3/4” X 0’ CARR BOLT, NUT, FW & LW A307, AS63, F436
1411 %.. % [ 1 PARAPET WALL CONNECTIONS A572 Gr. 50, AGIS Gr, 60, A709
O — HARDWARE NOTES
5'-11%" 10%.. _ ITEM # FUNCTION
211 3/4" ———] 19 |BOLT RAIL TO SHELF ANGLE CITEM #10)
- 1o%" TOP VIEW 45" 20 |BOLT SHELF ANGLE CITEM # 10) TO POST
1| “ . 21 |BOLT BLOCK-OUTS (ITEM # 13) TO HEAVY POST CITEM & 4)
2 11 rs" ) 23 |SPLICE TUBING CITEM #'S 7 & 12), & (4> PER PARAPET WALL CONNECTION CITEM # 26)
l’_%q;\ ) 4o $ $ ﬁ;.ﬂ ro6 24 |BOLT RAIL CITEMS #’S 17, & 18 10 BLOCK-OUTS CITEM # 13)
T
01-1/8* HOLE / #1-1/8" HOLE / ITEM #: 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) | SHEET 7 OF 8
HSS 6x6x3/16" + ; _DPpa y :
TOP+BOTTOM DRILL #1/2° HOLES TOP+BOTTON approveney: | Galvamized 2-Rail Box Beam Guardraal Approach Section
TOP+BOTTOM W 3 EM13-252, MIDDLEBURY RS 0174 (8)
4 REQ'D TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
3/16" CITEM & 16) R[NO. | DATE| DESCRIPTION BY| R|NO.| DATE| DESCRIPTION |BY|
€[ 1| 3/%0/14 [REVISED PER 3/18/14 MARK-UP |EF.| E
+ b= " ' : ; ===y V[ 2 | 4/2/14 [REVISED PER 3/25/14 MARK-UP |EP.| V
5 Loy e i P (l:):'AV{(N EP. | 3i7/l4
T l | ELDE‘RLEE, INC. \ FABRICATOR APPERCOVEEg D.L. 3/10/14
I THIS LENGTH PAY ITEM 900.620 THIS LENGTH PAY ITEM 621.30 { i/ OAKS CORNERS, NEW YORK 14518 M.V, .
E—-Mail: dlong@clderiee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315-289-6670 Fog:315-789-6615 DRAWING NO.FR L - MIDDLEBURY 2014




BILL DOF MATERIALS
1/2* HOLES MITER CUT FOR ITEM #|aTY DESCRIPTION ASTM #
» 1” TOP VIEW TOP+BOTTOM CTYPD HSS 6x6x3/16" 9/=0" KICKBACKS
1 7/8" HOLES —_— 6 REQ'D DRILL @7/8" HOLE e 14° i DL TUBE WALL PLATE = T X 18" % &5° ASTH AS72_Gr. S0
25"-» <TOP & BOTTOM TOP+BOTTOM 10 RAW, 95/8° REBAR € 24" ABIS, Gr. 60
57 X 5° X 5/16° TUBE W/ SLOTS € 19° ASTM A900 Gr. B
.L__ ] \ i Il 1 i N 4 SHIM PL 1/72° X 4° X 17 W/ SLOTS ASTM A36CASTM A709 Gr, 36)CVN
¥ T 1 T T i 1 E SRIM PL 172° X 4° X 17° W/0 SLOTS) ASTH A36LASTM A709 Gr. 360CVN
8~ g ] 9-10" | / K PROTRUSIONS CAUSED BY WELDING OR _ | 2
1410 FACE OF RAIL. GALVANIZING ARE NDT PERMITTED ON ‘ﬁ” 3(“‘6 3/8 |
13410" THE SPLICE TUBES AND FILL PLATES 2—" 4 SL%T TDP.\ 57167 WS 3019
e 0TToM
15-10
18-10" T ~~WELD ‘L
WW4 e
2563 . 6"17% ®/
6°17°38" n
Right Shown’ ! 51" %
Wing Wall 1 = ‘Left”
WW4 x:ng yo& g = :Sigmz 1.. LEFT / TRAILING”
’ I Ql =
¢ 7/8" HOLES wlng Wall 4 = 'LegFt' W/ 6° 8 ANGLE 1" o-"
. FRONT+BACK (TYP.> o —|
W 4 REQ'D [ 21" I 3.,TYP .
- Ir hl I i s -z '"E' 5 /45 ReBaR oo
i 1T T I —-—-—-—-j ==
— 10— SIDE VIEW 2 A
" J_ ) _I_ dn
8-10 CITEM # 18 E— 1 —+  +772 T wes 3037
. 1-03" - | P Bne |26 3
5-10 2-1" 1___1_—6 _[ 104"
710" REF. 1 51“ 2
2 /@ _I_ 1
4 . +
rynln
#7/8* HOLE 1-103 L © Tme— h
TOP+BOTTOM —
1/2* HOLES 2 REG'D i
1 TOP VIEW  TOP+BOTTOM (TYP. 1* GALV. HOLE 1
- & e 6 REQ'D 2X (REF)
7/8" HOLES i
1 _| <TOP & BOTTOM) rs 1" CITEM # 26
% 1|— ! Y|
¥ % ¥ + % % % L A
I
9-10" J
11-10"
13-10"
15-10"
1810 ' BILL OF MATERIALS, WW 4
617738 110 2 1TEM #] QTY. [ COMPONENT DESCRIPTION MATERIAL CASTM)
249 T 3 | 0013.57021 [3° 1-PUST, PUNCH 8’ W/SPD € 63° LG ASTM A572 Gr. 50
@ 7/8° WOLES p 3 | 001357025 [3° I-POST, PUNCH 8, & 20° W/SPD € 63° LG ASTM A572 Gr. 50
FRONT+BACK (TYP.) 3 2 | 001357060 [3* I-END PUST W/SPD € 3-8’ LG ASTM A572 Gr. 50
4 REQ'D SIDE VIEW WW4 HSS 6x6x3/16™ 1 3 4| 0013.09001 [W6X9 POST @ 77 W/SPD & 5/8° HULES ASTM AS72 Gr. 50
—_— “‘I 10" |~ ] 5 4 | 0013.57010 [37 1-POST, PUNCH 87 & 20°, W/8X32" SPADE @7" ASTM A572 Gr. 50
g - |45 7 1| 0033.00640 [HSS SX5 TUBE SPLICE €87° LG W/ 174’ SHINS AS00 Gr. B 7 A572 Gr 50
| T 1 10 | 19 | 0054.00050 [REG BE SHELF ANGLES @ 4-1/2" ASTH A36
& | { 2 [ 1 FSS 5X5 DBL BEND TUBE SPL @ 27° LG & 25°ANGLE AS00 Gr. B 7 A572 GF 50
T 13 | © |0054.00566 [6X6° TRANS, TUBE B/0 @ 6" LG 2500 Gr. B
| 210" ——r] 5 | 1 EX6” BB @ 9'-0' KICKBACK, W/ CAP & 12 1/2° ANGLE A500 Gr. B 7 A%
6 | 1 6X6" BB @ 17°-11 1/27, DRILL &' CC AS00 Gr. B
3-10" CITEM & 17 7 1 6X6" BB TOP TRANS @ 24'-9 3/4° LG W/EXP END & &° & ANGLE AS00 Gr. D
5-10" 18 | 1 6X6" BB BTM TRANS @ 25'-6 3/4° LG W/EXP END & 6 ©' ANGLE AS00 Gr. B
710" 19 | 18 | 008003355 [3/8° X 7 1727 BOLT, NUT, & 2 FW A307, AS63, F436
20 | 19 | 0080.04100 |I/2° x 1-172° BOLT, NUT, & FV 7307, AS563, F436
21 | 16 | 008004120 |I/2" x 1-172" BOLT, NUT, 2 FW & LW A307, AS563, F436
1 23 | 14 | 008006340 [3/4° X 7-172° BOLT, NUT, & FW A325, AS63, 436
17-115" 24_| 8 | 008006370 [3/4° X ©° CARR BOLT, NUT, FV & LW A307, A563, F436
14._11%" % | 1 PARAPET WALL CONNECTIONS W/ 6° 187 ANGLE AS72 Gr. 50, ABIS Gr. 60, A700
g-113" HARDWARE NOTES
5113 1ol |- TEM # FUNCTION
—— 291 3/4" ——— 19 |BOLT RAIL TO SHELF ANGLE CITEM #10)
- 10l TOP VIEW 45" 20 [BOLT SHELF ANGLE CITEM # 10> 70 POST
1 2 ’_ . 21 |BOLT BLOCK-OUTS (ITEM # 13) TO HEAVY POST CITEM & 4)
4 -l | r3 | 23 [SPLICE TUBING CITEM #'S 7 & 12), & (4> PER PARAPET WALL CONNECTION CITEM ¥ 26)
T - " S 17, T K-OUTS CITEM
¢ N ¢ A 2 74’4 r 6 24 |BOLT RAIL CITEMS #'S 17, & 18 TO BLOCK-DUTS CITEM # 13
]
: : FR Laf EB | SHEET 8 oF 8
\m e noLe N / 1-1/8" HOLE / ITEM #:900.620  GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)
XOX:
TOP+BOTTOM . oLes TOP+BOTTOM APPROVED BY: Galvanized 2-Rail Box Beam Guardrasl Approach Section
2 REQ'D DRILL ¢1/2" HOLE 2 REQ'D WW4 EM13-252, MIDDLEBURY RS 0174 (8)
TDP"BDRTETQE!"]; TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
se"  CITEM # 16) 4 R[NO. [ DATE] DESCRIPTION BY| R[NO.] DATE| DESCRIPTION _|BY
E[ 1 3/20/14 [REVISED PER 3/18/14 MARK-UP |EP.| E
et ' =ty V[ 2 | 4/2/14 |REVISED PER 3/25/14 MARK-UP |EF.| V
& e Q DRAWN E.P. 377114
—r—-r: i ELDERLEE INC. )%%\Ea'éﬂﬂ%% CHECKED [ D.L. 3/10/14
APPROVED | M.v.
THIS LENGTH PAY ITEM 621.30 9/ OAKS CORNERS, NEW YORK 14578
' THIS LENGTH PAY ITEM 900.620 ‘ E‘—Mcul dlmg@elderlee com / epeek@elderlee.com SCALE SCHEMAﬂC

21578966815

DRAWING NO.FR L - MIDDLEBURY 2014




WELDING PROCEDURE SPECIFICATION

PQR ELDERLEE #3
Material Specification A572 TO A572
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC ELECTRODE POSITIVE
Polarity REVERSE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
' WELDING PROCEDURE .
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
/16"
FPUST TO BASE PLATE

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3002 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE#3

Material Specification A500 GR B
Welding Process FCAW-G
Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL
Filler Metal Specification Ab5.29
Filler Metal Classification E81T1-Ni1C-JH4
Flux N/A
Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min
+ WELDING PROCEDURE .
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12 - 3/16"~3/8"
TO TO TO
269 23 10

WWB

UIVi-F

FT1

JL@

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

Revision No.

3007

Contractor
Authorized By
Date

Elderlee, Inc.

RANDY SCOTT




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification A709 TO A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO 2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment D1.5

Preheat and Interpass Temperature D1.5

Postheat Temperature NONE

Heat Input Min Max

* WELDING PROCEDURE.

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 1/16 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
1747

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3009 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




Material Specification
Welding Process
Manual or Machine
Position of Welding
Filler Metal Specification
Filler Metal Classification
Flux

Shielding Gas

Single or Multiple Pass
Single or Multiple Arc
Welding Current
Polarity

Welding Progression
Root Treatment

Preheat and Interpass Temperature

Postheat Temperature
Heat input

WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3
ASTM-A500-A53-GRADE B TO A36

FCAW-G

SEMAUTOMATIC

1G

A5.29

E81T1-Ni1C-JH4

N/A

Co2 Dew Point -40DEGF  FLOW RATE 50 CFH

SINGLE

SINGLE

DC

REVERSE ELECTRODE POSITIVE

STRINGER

PER D1.5

PER.D1.5

NONE

Min Max

' WELDING PROCEDURE

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10

L/8"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of

variables given in Section 5.

Procedure No.

3012

Contractor Elderlee, Inc.

Revision No.

Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM A572 GR. 50
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC
Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A

Shielding Gas CO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE ELECTRODE POSITIVE

Welding Progression STRINGER

Root Treatment CLEAN PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

* WELDING PROCEDURE .

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
o/ 167

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3019 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




WELDING PROCEDURE SPECIFICATION

Material Specification ASTM A36-08

Welding Process GMAW

Manual or Machine SEMIAUTOMATIC/ROBOQOTIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification A5.18

Filler Metal Classification L-56 LINCOLN

Flux N/A

Shielding Gas 90% ARGON /10% CO2 Dew Point -40DEG F Flow Rate 45CFH
Single or Multiple Pass SINGLE

Single or Multiple Arc SINGLE

Welding Current DC

Polarity REVERSE

Welding Progression STRINGER

Root Treatment PER D1.5

Preheat and Interpass Temperature PER D1.5

Postheat Temperature NONE

Heat Input Min Max

+ WELDING PROCEDURE .

Welding Current

Pass Electrode Travel Joint detail
no. size Amperes Volts speed
.045 190 22 19
Variable LIMITS 171 20 17
TO TO TO 8"
209 24 21 i——

.

=]
1/74°% B*x 24"
SPADE

1747/ 2-3/8"

——

3 WELDS EA, SIDE
@ EQUAL SPACES

IE__

|
|
|
|
|
i 14t 2
I
|
|
|
|

174V 2-3/8°

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3022 Contractor Elderlee, Inc.
Revision No. Authorized By RANDY SCOTT
Date 3/20/2014




WELDING PROCEDURE SPECIFICATION
PQR ELDERLEE #3

Material Specification ASTM A572 GR. 50 CVN A500 GR B
Welding Process FCAW-G

Manual or Machine SEMAUTOMATIC

Position of Welding FLAT/HORIZONTAL

Filler Metal Specification Ab5.29

Filler Metal Classification E81T1-Ni1C-JH4

Flux N/A
Shielding Gas CcO2 Dew Point -40DEG F Flow Rate 50CFH
Single or Multiple Pass SINGLE
Single or Multiple Arc SINGLE
Welding Current DC
Polarity REVERSE ELECTRODE POSITIVE
Welding Progression STRINGER
Root Treatment PER D1.5
Preheat and Interpass Temperature PER D1.5
Postheat Temperature NONE
Heat Input Min Max
: - WELDING PROCEDURE.
Pass Electrode Welding Current Travel Joint detail
no. size Amperes Volts speed
1 116 310 25 11
Variable LIMITS 341 27 12
TO TO TO
269 23 10
2/16"

This procedure may vary due to fabrication sequence, fit-up, pass size, etc., within the limitation of
variables given in Section 5.

Procedure No. 3037 Contractor Elderlee, Inc.

Revision No. Authorized By RANDY SCOTT

Date 3/20/2014




